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I. Brackets:










5X1/2=2 ½
1) If A(B, Then A(B =







[
]

A) A

B) B


C) A(B

D)A(B

2) A and B are disjoint sets. If n(A)=4, n(A(B)=10, Then n(B)= ?

[
]
A) 5

B) 4


C) 6


D) 14
3) Slope of the line perpendicular to 3x+4y=10



[
]

A) ¾

B) -3/4

C) 4/3


D) -4/3

4)
((p(q)=








[
]


A) p (((q)
B) p(q

C) (p((q

D) p((q

5)
If n(A(B)= n(A)+n(B), Then A and B are  _______   Sets


[
]

A) Disjoint
B) Equal

C) Equivalent

D) finite

II.
Fill in the blanks: -









4X1/2=2

1) P ( P ( P is a ___________________________________________________________ Law

2) If A(= B, Then A−B =________________________________________________________
3) The statement 5≠4 in the Symbolic form _________________________________
4) If the line x/a + y/2a = 1 Passes though (1,-3) Then a = ​​​_________________

III.
Match the following :-








5X1/2=2 ½


Group – A





Group – B


1) Slope and point form a line

[
]
A)
{1}

2) If n(A)=p, n(B)=q, Then n(AXB)=
[
]
B)
pq

3) A(B=B(A is 



[
]
C)
-3/2

4) If A={1,2,3}, B={2,3,4} Then A-B =
[
]
D)
(y-y1)=m((x-x1)

5) The slope of x/2 + y/3 = 1

[
]
E)
Commutative Law









F)
Distributive Law

IV.
Answer the following questions : -






5X2=10

1) Define disjunction and write the truth table

2) Draw the truth table of ((p) => ((p)(q

3) Prove that. A((B(C) ( (A(B) ( (A(C)

4) Find the intercepts made by the following lines : 2x-6y+7=0

5) Find the equation of the line passing though the pint (3,-5) and whose slope is 7/3.

V.
Answer the following questions: -






2X4 =8


1) Find the equation of the line which passes through the point (1,-6) and whose product of the 

      intercepts on the co-ordinate axes is one.


2) Draw the graph of: y = x2-5x+6
and solve the equations of x2-5x+6=0
All the best

*****
